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I.  Discussion re: using light of nann 7

a.

b.

i.

sox 27 ruled that it is forbidden to count coins using n21n M
SN1w. there is no sanctity to n21n 71 — should be no prohibition
9077 77 07 (of a 9 n) also has no sanctity; yet v. 1 teaches that we cover o7 with hands; not to degrade nxn
1. Question: posted to 9”11 — if we may benefit from adornments to n21o
2. 577 they forbade using n21n 7 (implication — same applies to N0 1)
a. 9or 1. why is he explaining that which is already in a Xn»12 (n310 »1) with a X0 (of HY"27) ?
b.  Rather (901 73): the model for all is 07 (v. 1)

II. 3 disputes YR1nw/17; in each case 11 takes the stringent position

a.

i
ii.

iii.

iv.

Vi.

b.

C.

i.

25 120 P27 whether we may light novn 91 from another n”
Analysis (student before ¥7287): 27's reason is that it degrades the mxn
Response (87arn7): incorrect —his reason is that it causes a deficiency in the (original) mxn
1. Point of difference: if he lights directly from candle to candle —not a »13, but is wnan (“takes away”)
Challenge (8% 7): R:R W"Yn RNADIN — may not use a W’yn coin to counterweigh gold coins, even for the purpose
of :19°n of other w”yn
1. Analysis: no refutation if we agree that YR1nw/21 dispute a case of lighting directly from candle to candle
a. In which case: YRw would agree to forbid using a stick to get fire from n” to light another
b.  But if: YR1nw even allows using a stick (or match), then this Xnavin refutes him
2. Defense (737): this is due to a precaution; if the coins don’t balance each other, may use/keep them as 1>
Challenge (nww "7): v. 2 teaches that the n7n —not needed for light (as 'n’s light led them) was mTy of the n1>w
1. And: that m7p is the western light, which was used to light all the others
a. And: since the n1) were fixed in place, had to light using a Xorp — challenge to both positions (of 11)
b.  Defense (979): could have used long wicks
i. Nonetheless: this is a challenge to 11 according to the position of mxn nwnan — Rwp
Resolution (yw112 17 71792 82177 77): if mxn nwww np%Tn, we may light 715 73; if mxn vy nnan, we may not
Per: question posed as to whether the lighting or the placing of n21n 71 constitutes the nxn
1. Proposal: X171 ruled that if he was holding n” — accomplished nothing (=>n1%n nwy nnin)
a.  Rejection: someone who sees him will think that he is lighting for his own purpose
2. Proposal: X211 ruled that if he lit inside and took it outside — accomplished nothing
a.  Analysis: if we rule that mxn nww npYTn, we understand it must ympna npvTH
i. But if: mxn nww nmin — why did he accomplish nothing?
ii. Rejection: again, someone who sees him will think that he is lighting for his own purpose
3. Proposal: 9”21 ruled that if a lantern was lit all of naw (of n2n), after naw, he extinguishes and lights it
a. Analysis: if mxn nwy npYN, this ruling is understood
i But if: mxn nw nmin, he should have to extinguish, lift up, put down and light
4. Furthermore: since our n1371 is ...p°27Tn% = mxn nwy npdTn
a. Application: if a 'wn lights " — accomplished nothing
b.  However: women certainly light, per 5"207’s ruling that women are ma»n in n"1 as they were also
involved in the 01 (either as agents of the miracle or as survivors of the threat)
7235 123p prne: whether we may take % from one garment to put on another
1900 128w 127 whether we rule like v, who allows 11901 18w 927 on naw (e.g. pulling bench, ‘tho it may “plow”)
»2x: n21 always followed 29 (in B MOR) except in these 3 cases
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